


B = μ H

1 =10 5G =10 9T

μ = μr ⋅μ0 magnetic permeability

μ0 = 4π ⋅10−7 V ⋅ s
m ⋅A



FL =qv ×B;     FE =qEH

q⋅v ⋅B=q⋅EH ⇒ EH = v ⋅B
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FL = q v( ) B

q EH = q v B EH = v B
FL = +q +v( ) B

q EH = q v B EH = v B
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t = 0.2 mm

n = 8.5×1028 m−3

I =1 A

SH =
I

q ⋅n ⋅ t
=

1
1.6×10−19 ⋅8.5×1028 ⋅2×10−4 = 0.37 μV

T

t = 0.2 mm

n =1×1020 m−3

I =10 mA

SH =
I

q ⋅n ⋅ t
=

10−2

1.6×10−19 ⋅1×1021 ⋅2×10−4 = 0.31 V
T



Vin
Vout

R

B=μ ⋅NS ⋅ IL ;

IH =
VL

RC +RS

VH = SH ⋅ IH ⋅B= SH ⋅
VL

RC +RS

⋅μ ⋅NS ⋅ IL =K ⋅P

K = SH ⋅
μ ⋅NS

RC +RS
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I

ρ

( ) = 0 + sin2

I B0 I

H

= 0 0
B’=µH B

ρ ϑ( )=ρ0 +Δρ ⋅sin
2ϑ dρ ϑ( )

dϑ
=Δρ ⋅2sinϑ ⋅cosϑ

B0



ρ ϑ( )=ρ ϑ0( )+ ϑ −ϑ0( )

ρ ϑ( )=ρ ϑ0( )+ ϑ −ϑ0( )

ρ ϑ( )=ρ ϑ0( )− ϑ −ϑ0( )

ρ ϑ( )=ρ ϑ0( )− ϑ −ϑ0( )

R0(1+δ)

R0(1+δ)

R0(1-δ)

R0(1+δ)

Vi ⋅δ

δ =
∆ϑ
ρ ϑ0( )



ΔV = −dΦB

dt

ΦB =

∫
Σ

B · dl

B(r) =
μ0

2π

I

r



H = n ⋅ I
B = μ0 ⋅ 1+ χ( ) ⋅H
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dt
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